| Efficiency vs Dxy |

> 0.5

S dx
=
N
(6)]
|IIII

o
N
|

036l

efficiency v

o
[
[

s
02
PR S

0.05 [ r-wrserfronend

7|00 R VRN RS T S O

1.

Ratio

0.95

=
!

il
f

| Efficiency vs Dz |

S E50-15-10 =5 0

510 15 20 25
TP dxy (cm)

—=— DOM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_windows

0.5

dz

ciency

ef

Q0,45
) N
£ 0,35

|
0,25t
0.2y B L

................................................

—— DQM_TT__MODIFIED_layerProcv2_windows_hits

20 30
TP dz (cm)




	Contents
	Page 1


